P IR SIS 08 5 Y 2 SN T RS S 1 SR
T 2B NI
=~ YRS Z ttfr‘ﬂﬁﬁﬁ' R 7 el {ABGEHA A i Vf‘ BT o SR
(1) P(0<Z<1.63) (2) P(-0.43<Z<0.15) (3) P(Z>-0.26)
(4)=151Z ﬁ’r—?ffm%[@%@ﬁr Rz ['ZE“IEIU‘F SR L 0.025 (9 Z fify
el ES S & %%'EU?%@‘. R = ) 6 5 9 kRS I
Hrprer ﬁj'ﬁ?}m fiel » 7T IS5 ET, 40,000 7o > FRYESE £ 5,000 4 =]
1 {2 e 25,000 7 %] 50,000 7+ I RO %) 2
2~ [ = APEFEYPAS 30,000 T PR ET %) 2
~ {2 FEEY A 48,000 7 [UBSER £ 40D 2
4. ] SYfI R R 2D
BerpSage X VRS pReyr
f(x) =kx Fir, x=1,2,3
=0 K
1. i k=? 2.E(X) 3.V(X)
Y~ SIEIV(X)=4 0 E(X)=2 > &' Y=3+2X+X? » Z=1+2X i E(Y)ZE V(2)
B, FZHiF AFIB > P(A)=0.6 > P(B)=0.4 > °' P(AUB)=0.76 , R
1.P(A|B) 3.A BRI N I 2 RIMNELE 2
2PBIA)  4.A, BRyI{FET p\ ?RUPNEL[ 2
A3 pI2¢ = 2 M RTRY - ég F S X R T EE MR TR X PR
3R E(X) 0 V(X) ©
0 PRI A 9 2 oy > Z5AEV 20 7)o B P g i b R Y
B+ :2,5,7,7,9,6,4,7,2,3 o
@ B (R (S)5EE 0 (4) = BR - ()R (6B [T
P THEPIE 10 8 o 20 8 o SISO SRR AR o P Pt SR
60 77 » fRYEAEE 10 55 > & 2 g RS 70 5 o ARIER KL 16 55 > [lJIFTak
af SRR > = 7230 AbaguT BRRE s ARYE R 2
Je s IE;F%EJ 50 [HJE*E EUREET 855 75 05 > AE L 50T 0 [ 1 6503
=285 S H|Z DRSS ©
s PR oA, PR %Lﬂr% 7 if*:“’—fﬁﬁ ’ %F} ff’ﬂf’?%'ﬁﬂ@ﬁ%ﬁ“ Mg
FgShE e fiesl =g Elfﬂ?%'f‘u Fi[ﬂt Lip ?

|

bl



